

## San Antonio Water System Solicitation Vendor

Prepared By : Janie M. Powell

Solicitation No : CO-00203

Job # : 18-5009 & 18-5509

Contract No : SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio,Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2019 SMP Package II (Sligo St., Lyons St.)

## Time And Date : August 20, 2018 at 1:00 PM

Price List

							CO-002	203 - 1_R L	JONES L P	CO-00203 - 2_	_ATLAS CO INC.	NSTRUCTION,	CO-00203 - 3_D GUERRA CONSTRUCTION LLC			
Line No	ltem No	Quote Category	SOV Item		Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price		Total Amount	
1	1 w	General Water Bid Items		103.3	REMOVE CONCRETE SIDEWALKS & DRIVEWAYS (3,000 SF < X < 10,000 SF)	SF	\$1.00	308	\$308.00	\$10.00	308	\$3,080.00	\$4.50	308	\$1,386.00	
2	2 w	General Water Bid Items		203.1	TACK COAT	SY	\$3.00	108	\$324.00	\$7.00	108	\$756.00	\$5.00	108	\$540.00	
3	3 w	General Water Bid Items		205.2	HOT MIX ASPHALTIC PAVEMENT, TYPE B (10" COMP. DEPTH)	SY	\$20.00	850	\$17,000.00	\$75.00	850	\$63,750.00	\$45.00	850	\$38,250.00	
4	4 w	General Water Bid Items		205.4	HOT MIX ASPHALTIC PAVEMENT, TYPE D (2" COMP. DEPTH) ( < 5000 SY)	SY	\$20.00	1,083	\$21,660.00	\$20.00	1,083	\$21,660.00	\$20.00	1,083	\$21,660.00	
5	5 w	General Water Bid Items		502.1	CONCRETE SIDEWALKS ( < 150 SY)	LS	\$1.00	34	\$34.00	\$100.00	34	\$3,400.00	\$80.00	34	\$2,720.00	
6	6 w	General Water Bid Items		550	TRENCH EXCAVATION SAFETY PROTECTION	LF	\$1.00	2,091	\$2,091.00	\$10.00	2,091	\$20,910.00	\$3.00	2,091	\$6,273.00	
7	7 w	General Water Bid Items		818	8" PVC WATERLINE	LF	\$30.00	2,091	\$62,730.00	\$65.00	2,091	\$135,915.00	\$81.40	2,091	\$170,207.40	
8	8 w	General Water Bid Items		824	RELAY 3/4" SHORT SERVICE	EA	\$1,000.00	23	\$23,000.00	\$1,100.00	23	\$25,300.00	\$945.00	23	\$21,735.00	
9	9 w	General Water Bid Items		824	RELAY 3/4" LONG SERVICE	EA	\$1,700.00	26	\$44,200.00	\$1,200.00	26	\$31,200.00	\$1,431.20	26	\$37,211.20	
10	10 w	General Water Bid Items		824	RELAY 1" SHORT SERVICE	EA	\$1,100.00	1	\$1,100.00	\$1,300.00	1	\$1,300.00	\$1,030.00	1	\$1,030.00	
11	11 w	General Water Bid Items		824	NEW 3/4" SHORT UNMETERED SERVICE	EA	\$1,200.00	12	\$14,400.00	\$1,100.00	12	\$13,200.00	\$965.00	12	\$11,580.00	
12	12 w	General Water Bid Items		824	NEW 3/4" LONG UNMETERED SERVICE	EA	\$1,500.00	15	\$22,500.00	\$1,200.00	15	\$18,000.00	\$1,452.00	15	\$21,780.00	
13	13 w	General Water Bid Items		824	RELOCATE 3/4" LONG SERVICE	EA	\$1,500.00	4	\$6,000.00	\$1,200.00	4	\$4,800.00	\$2,032.00	4	\$8,128.00	
14	14 w	General Water Bid Items		824.5	CUSTOMER SHUT-OFF VALVE	EA	\$500.00	7	\$3,500.00	\$500.00	7	\$3,500.00	\$325.00	7	\$2,275.00	
15	15 w	General Water Bid Items		828	8" GATE VALVES	EA	\$1,500.00	7	\$10,500.00	\$1,500.00	7	\$10,500.00	\$2,100.00	7	\$14,700.00	
16	16 w	General Water Bid Items		833	EXISTING METER AND NEW METER BOX RELOCATION	EA	\$600.00	7	\$4,200.00	\$500.00	7	\$3,500.00	\$310.50	7	\$2,173.50	
17	17 w	General Water Bid Items		833	METER BOX	EA	\$100.00	72	\$7,200.00	\$500.00	72	\$36,000.00	\$325.00	72	\$23,400.00	
18	18 w	General Water Bid Items		834.1	FIRE HYDRANT	EA	\$10,000.00	3	\$30,000.00	\$4,500.00	3	\$13,500.00	\$3,835.00	3	\$11,505.00	
19	19 w	General Water Bid Items		836	PIPE FITTINGS, ALL SIZES AND TYPES	TN	\$5,000.00	2	\$10,000.00	\$10,000.00	2	\$20,000.00	\$2,500.00	2	\$5,000.00	
20	20 w	General Water Bid Items		840	6" WATER TIE-INS	EA	\$2,500.00	6	\$15,000.00	\$1,500.00	6	\$9,000.00	\$2,000.00	6	\$12,000.00	
21	21 w	General Water Bid Items		841	HYDROSTATIC TESTING	EA	\$500.00	3	\$1,500.00	\$2,000.00	3	\$6,000.00	\$1,500.00	3	\$4,500.00	
22	22 w	General Water Bid Items		844	2" BLOWOFF, PERMANENT	EA	\$3,500.00	1	\$3,500.00	\$2,500.00	1	\$2,500.00	\$2,680.00	1	\$2,680.00	
23	23 w	General Water Bid Items		844	2" BLOWOFF, TEMPORARY	EA	\$200.00	6	\$1,200.00	\$1,500.00	6	\$9,000.00	\$1,170.00	6	\$7,020.00	

Run Date 08/20/2018

							CO-002	203 - 1_R L	JONES L P	CO-00203 - 2_	ATLAS CO	NSTRUCTION,		GUERRA ON LLC	
Line No	ltem No	Quote Category	SOV Item		Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price		Total Amount
24 2	24 w	General Water Bid Items		413	FLOWABLE FILL	CY	\$175.00	76	\$13,300.00	\$150.00	76	\$11,400.00	\$130.00	76	\$9,880.00
25 2	25 w	General Water Bid Items		3000	REMOVAL, TRANSPORTATION, AND DISPOSAL OF AC PIPE	LF	\$50.00	29	\$1,450.00	\$100.00	29	\$2,900.00	\$20.00	29	\$580.00
26 1	1 s	General Sanitary Sewer Bid		203.1	TACK COAT	GAL	\$1.00	73	\$73.00	\$7.00	73	\$511.00	\$6.00	73	\$438.00
27 2	2 s	General Sanitary Sewer Bid		205.2	HOT MIX ASPHALTIC PAVEMENT, TYPE B (10" COMP. DEPTH)	SY	\$60.00	348	\$20,880.00	\$75.00	348	\$26,100.00	\$45.00	348	\$15,660.00
28 3	3 s	General Sanitary Sewer Bid		205.4	HMAC TYPE "D" (2" COMP. DEPTH)(<5000 S.Y.)	SY	\$15.00	443	\$6,645.00	\$20.00	443	\$8,860.00	\$20.00	443	\$8,860.00
29 4	4 s	General Sanitary Sewer Bid		205.4	HOT MIX ASPHALTIC PAVEMENT- TYPE "D" (3" COMP. DEPTH)	SY	\$100.00	284	\$28,400.00	\$25.00	284	\$7,100.00	\$24.00	284	\$6,816.00
30 5	5 s	General Sanitary Sewer Bid Items		208.1 (3")	SALVAGING, HAULING & STOCKPILING RECLAIMABLE ASPHALTIC PAVEMENT	SY	\$50.00	284	\$14,200.00	\$14.00	284	\$3,976.00	\$20.00	284	\$5,680.00
31 6	6 s	General Sanitary Sewer Bid		550	TRENCH EXCAVATION SAFETY PROTECTION	LF	\$1.00	855	\$855.00	\$7.00	855	\$5,985.00	\$3.00	855	\$2,565.00
32 7	7 s	General Sanitary Sewer Bid		848	8" PVC SANITARY SEWER LINE. (SDR 26, ASTM 2241, 150 PSI)	LF	\$50.00	855	\$42,750.00	\$65.00	855	\$55,575.00	\$90.70	855	\$77,548.50
33 8	8 s	General Sanitary Sewer Bid		852.1	SANITARY SEWER MANHOLE (0' - 6')	EA	\$12,000.00	4	\$48,000.00	\$4,500.00	4	\$18,000.00	\$6,100.00	4	\$24,400.00
34 9	9 s	General Sanitary Sewer Bid		852.3	EXTRA DEPTH MANHOLES (> 6')	VF	\$500.00	9	\$4,500.00	\$500.00	9	\$4,500.00	\$227.00	9	\$2,043.00
35 1	10 s	 General Sanitary Sewer Bid		854	SANITARY SEWER LATERALS (SDR 26, ASTM 2241, 150 PSI)	LF	\$70.00	737	\$51,590.00	\$65.00	737	\$47,905.00	\$81.70	737	\$60,212.90
36 1	11 s	 General Sanitary Sewer Bid		854.1	TWO-WAY SANITARY SEWER CLEAN-OUT	EA	\$700.00	50	\$35,000.00	\$1,000.00	50	\$50,000.00	\$660.00	50	\$33,000.00
37 1	12 s	 General Sanitary Sewer Bid		860	VERTICAL STACKS	VF	\$200.00	114	\$22,800.00	\$400.00	114	\$45,600.00	\$191.00	114	\$21,774.00
38 1	13 s	General Sanitary Sewer Bid		864	BYPASS PUMPING	LS	\$35,000.00	1	\$35,000.00	\$34,000.00	1	\$34,000.00	\$5,000.00	1	\$5,000.00
39 1	14 s	General Sanitary Sewer Bid		866	SEWER MAIN PRE-TELEVISING (8"-15")	LF	\$2.00	855	\$1,710.00	\$9.00	855	\$7,695.00	\$3.25	855	\$2,778.75
40 1	15 s	General Sanitary Sewer Bid		866	SEWER MAIN TELEVISION INSPECTION (8" - 15")	LF	\$2.00	855	\$1,710.00	\$3.00	855	\$2,565.00	\$2.25	855	\$1,923.75
41 1	16 s	General Sanitary Sewer Bid		413	FLOWABLE FILL	CY	\$175.00	21	\$3,675.00	\$150.00	21	\$3,150.00	\$130.00	21	\$2,730.00
42 1	17 s	General Sanitary Sewer Bid		530.1	BARRICADE, SIGNS AND TRAFFIC HANDLING (Iyons st)	EA	\$17,500.00	1	\$17,500.00	\$5,000.00	1	\$5,000.00	\$10,000.00	1	\$10,000.00
43 1	18 s	General Sanitary Sewer Bid		530.1	BARRICADE, SIGNS AND TRAFFIC HANDLING(sligo st)	EA	\$17,500.00	1	\$17,500.00	\$5,000.00	1	\$5,000.00	\$10,000.00	1	\$10,000.00
44 1	19 s	General Sanitary Sewer Bid		100.1	MOBILIZATION	LS	\$65,000.00	1	\$65,000.00	\$78,000.00	1	\$78,000.00	\$72,000.00	1	\$72,000.00
45 2	20 s	General Sanitary Sewer Bid		101.1	PREPARATION OF ROW	LS	\$30,000.00	1	\$30,000.00	\$39,000.00	1	\$39,000.00	\$35,000.00	1	\$35,000.00
		III				Total			\$764,485.00			\$919,593.00			\$836,644.00
alenda	ar Days	s To Complete :													

CO-00203 - 4_E-Z BEL						CO-00203 - 6		ISTRUCTION	CO-00203 -	ITIES REHAB			RONTO		(AS PRIDE	CO-00203 - 10_QA Construction				
	TRUCTIO		CONSTRUCTIONS INC			LLC										LLC	Services, Inc.			
Unit Price	Quanti	Total	Unit Price		Total	Unit Price	Quant	Total	Unit Price	Quanti	Total Amount	Unit Price		Total	Unit Price	Quanti	Total Amount	Unit Price	Quan	Total
<b>*</b> 1.00	ty	Amount	<b>.</b>	ity	Amount	<b>*</b> 4 0 0	ity	Amount	<b></b>	ty	<b>*</b> + <b>=</b> + 0, 00	<u> </u>	ity	Amount	<b>A5</b> 00	ty	<b>•</b> • • • • • • •	<b>ATA AA</b>	tity	Amount
\$1.00	308	\$308.00	\$2.00	308	\$616.00	\$4.00	308	\$1,232.00	\$5.00	308	\$1,540.00	\$1.00	308	\$308.00	\$5.00	308	\$1,540.00	\$70.00	308	\$21,560.00
\$4.00	108	\$432.00	\$7.00	108	\$756.00	\$20.00	108	\$2,160.00	\$5.00	108	\$540.00	\$7.00	108	\$756.00	\$20.00	108	\$2,160.00	\$1.50	108	\$162.00
\$60.00	850	\$51,000.00	\$70.00	850	\$59,500.00	\$64.00	850	\$54,400.00	\$80.00	850	\$68,000.00	\$75.00	850	\$63,750.00	\$70.00	850	\$59,500.00	\$70.00	850	\$59,500.00
\$15.00	1,083	\$16,245.00	\$30.00	1,083	\$32,490.00	\$35.00	1,083	\$37,905.00	\$20.00	1,083	\$21,660.00	\$18.00	1,083	\$19,494.00	\$40.00	1,083	\$43,320.00	\$20.00	1,083	\$21,660.00
\$100.00	34	\$3,400.00	\$104.00	34	\$3,536.00	\$63.00	34	\$2,142.00	\$6,000.00	34	\$204,000.00	\$70.00	34	\$2,380.00	\$80.00	34	\$2,720.00	\$85.00	34	\$2,890.00
\$30.00	2,091	\$62,730.00	\$3.00	2,091	\$6,273.00	\$3.00	2,091	\$6,273.00	\$1.00	2,091	\$2,091.00	\$1.00	2,091	\$2,091.00	\$1.00	2,091	\$2,091.00	\$2.00	2,091	\$4,182.00
\$32.00	2,091	\$66,912.00	\$48.00	2,091	\$100,368.00	\$75.00	2,091	\$156,825.00	\$75.00	2,091	\$156,825.00	\$45.00	2,091	\$94,095.00	\$80.00	2,091	\$167,280.00	\$50.00	2,091	\$104,550.00
\$1,200.00	23	\$27,600.00	\$850.00	23	\$19,550.00	\$825.00	23	\$18,975.00	\$1,500.00	23	\$34,500.00	\$650.00	23	\$14,950.00	\$1,000.00	23	\$23,000.00	\$750.00	23	\$17,250.00
\$2,500.00	26	\$65,000.00	\$900.00	26	\$23,400.00	\$980.00	26	\$25,480.00	\$2,500.00	26	\$65,000.00	\$1,000.00	26	\$26,000.00	\$1,600.00	26	\$41,600.00	\$1,060.00	26	\$27,560.00
\$1,700.00	1	\$1,700.00	\$950.00	1	\$950.00	\$985.00	1	\$985.00	\$2,000.00	1	\$2,000.00	\$950.00	1	\$950.00	\$2,000.00	1	\$2,000.00	\$1,000.00	1	\$1,000.00
\$1,500.00	12	\$18,000.00	\$850.00	12	\$10,200.00	\$825.00	12	\$9,900.00	\$1,500.00	12	\$18,000.00	\$650.00	12	\$7,800.00	\$1,000.00	12	\$12,000.00	\$800.00	12	\$9,600.00
\$2,600.00	15	\$39,000.00	\$900.00	15	\$13,500.00	\$960.00	15	\$14,400.00	\$2,000.00	15	\$30,000.00	\$1,000.00	15	\$15,000.00	\$1,600.00	15	\$24,000.00	\$900.00	15	\$13,500.00
\$1,500.00	4	\$6,000.00	\$900.00	4	\$3,600.00	\$1,100.00	4	\$4,400.00	\$2,000.00	4	\$8,000.00	\$600.00	4	\$2,400.00	\$2,000.00	4	\$8,000.00	\$1,190.00	4	\$4,760.00
\$200.00	7	\$1,400.00	\$100.00	7	\$700.00	\$215.00	7	\$1,505.00	\$200.00	7	\$1,400.00	\$180.00	7	\$1,260.00	\$200.00	7	\$1,400.00	\$300.00	7	\$2,100.00
\$2,000.00	7	\$14,000.00	\$1,600.00	7	\$11,200.00	\$2,600.00	7	\$18,200.00	\$2,500.00	7	\$17,500.00	\$1,500.00	7	\$10,500.00	\$1,800.00	7	\$12,600.00	\$2,500.00	7	\$17,500.00
\$200.00	7	\$1,400.00	\$200.00	7	\$1,400.00	\$336.00	7	\$2,352.00	\$300.00	7	\$2,100.00	\$200.00	7	\$1,400.00	\$300.00	7	\$2,100.00	\$280.00	7	\$1,960.00
\$200.00	72	\$14,400.00	\$150.00	72	\$10,800.00	\$315.00	72	\$22,680.00	\$400.00	72	\$28,800.00	\$150.00	72	\$10,800.00	\$200.00	72	\$14,400.00	\$220.00	72	\$15,840.00
\$7,400.00	3	\$22,200.00	\$4,600.00	3	\$13,800.00	\$4,500.00	3	\$13,500.00	\$4,500.00	3	\$13,500.00	\$7,000.00	3	\$21,000.00	\$5,000.00	3	\$15,000.00	\$4,500.00	3	\$13,500.00
\$1.00	2	\$2.00	\$5,800.00	2	\$11,600.00	\$3,200.00	2	\$6,400.00	\$8,000.00	2	\$16,000.00	\$1,000.00	2	\$2,000.00	\$1,000.00	2	\$2,000.00	\$5,000.00	2	\$10,000.00
\$2,000.00	6	\$12,000.00	\$4,500.00	6	\$27,000.00	\$1,700.00	6	\$10,200.00	\$2,000.00	6	\$12,000.00	\$1,200.00	6	\$7,200.00	\$3,000.00	6	\$18,000.00	\$1,200.00	6	\$7,200.00
\$2,000.00	3	\$6,000.00	\$1,500.00	3	\$4,500.00	\$1,200.00	3	\$3,600.00	\$3,000.00	3	\$9,000.00	\$1,800.00	3	\$5,400.00	\$2,000.00	3	\$6,000.00	\$800.00	3	\$2,400.00
\$3,000.00	1	\$3,000.00	\$3,000.00	1	\$3,000.00	\$1,935.00	1	\$1,935.00	\$2,000.00	1	\$2,000.00	\$1,200.00	1	\$1,200.00	\$2,400.00	1	\$2,400.00	\$2,800.00	1	\$2,800.00
\$2,000.00	6	\$12,000.00	\$1,050.00	6	\$6,300.00	\$1,500.00	6	\$9,000.00	\$800.00	6	\$4,800.00	\$1,000.00	6	\$6,000.00	\$2,400.00	6	\$14,400.00	\$1,300.00	6	\$7,800.00

		E-Z BEL ON LLC	CO-00203 - 5_QRO MEX CONSTRUCTIONS INC			CO-00203 - 6		STRUCTION	CO-00203 - 7_FACILITIES REHAB INC					RONTO		AS PRIDE	CO-00203 - 10_QA Construction Services. Inc.			
Unit Price			Unit Price		Total	Unit Price	Quant	Total	Unit Price	Quanti	Total Amount	Unit Price		Total			Total Amount			Total
Onit i fice	ty	Amount	Unit i fice	ity	Amount	Onit Thee	ity	Amount	Unit Thee	ty	Total Amount	Onit Thee	ity	Amount	Unit The	ty	Total Amount	Unit The	tity	Amount
\$100.00	76	\$7,600.00	\$180.00	76	\$13,680.00	\$135.00	76	\$10,260.00	\$150.00	76	\$11,400.00	\$160.00	76	\$12,160.00	\$150.00	76	\$11,400.00	\$150.00	76	\$11,400.00
\$100.00	29	\$2,900.00	\$122.00	29	\$3,538.00	\$30.00	29	\$870.00	\$50.00	29	\$1,450.00	\$40.00	29	\$1,160.00	\$180.00	29	\$5,220.00	\$44.00	29	\$1,276.00
\$4.00	73	\$292.00	\$12.00	73	\$876.00	\$20.00	73	\$1,460.00	\$20.00	73	\$1,460.00	\$7.00	73	\$511.00	\$20.00	73	\$1,460.00	\$25.00	73	\$1,825.00
\$60.27	348	\$20,973.96	\$70.00	348	\$24,360.00	\$65.00	348	\$22,620.00	\$80.00	348	\$27,840.00	\$75.00	348	\$26,100.00	\$70.00	348	\$24,360.00	\$70.00	348	\$24,360.00
\$15.00	443	\$6,645.00	\$30.00	443	\$13,290.00	\$35.00	443	\$15,505.00	\$20.00	443	\$8,860.00	\$28.00	443	\$12,404.00	\$40.00	443	\$17,720.00	\$20.00	443	\$8,860.00
\$24.00	284	\$6,816.00	\$42.00	284	\$11,928.00	\$67.00	284	\$19,028.00	\$25.00	284	\$7,100.00	\$40.00	284	\$11,360.00	\$45.00	284	\$12,780.00	\$30.00	284	\$8,520.00
\$4.00	284	\$1,136.00	\$7.00	284	\$1,988.00	\$12.00	284	\$3,408.00	\$10.00	284	\$2,840.00	\$40.00	284	\$11,360.00	\$18.00	284	\$5,112.00	\$30.00	284	\$8,520.00
\$30.00	855	\$25,650.00	\$3.00	855	\$2,565.00	\$3.00	855	\$2,565.00	\$1.00	855	\$855.00	\$1.00	855	\$855.00	\$1.00	855	\$855.00	\$5.00	855	\$4,275.00
\$32.00	855	\$27,360.00	\$56.00	855	\$47,880.00	\$95.00	855	\$81,225.00	\$120.00	855	\$102,600.00	\$65.00	855	\$55,575.00	\$84.00	855	\$71,820.00	\$70.00	855	\$59,850.00
\$14,000.00	4	\$56,000.00	\$4,900.00	4	\$19,600.00	\$7,000.00	4	\$28,000.00	\$5,500.00	4	\$22,000.00	\$8,000.00	4	\$32,000.00	\$6,000.00	4	\$24,000.00	\$5,000.00	4	\$20,000.00
\$0.01	9	\$0.09	\$300.00	9	\$2,700.00	\$190.00	9	\$1,710.00	\$400.00	9	\$3,600.00	\$350.00	9	\$3,150.00	\$800.00	9	\$7,200.00	\$360.00	9	\$3,240.00
\$120.00	737	\$88,440.00	\$64.00	737	\$47,168.00	\$35.00	737	\$25,795.00	\$80.00	737	\$58,960.00	\$53.00	737	\$39,061.00	\$80.00	737	\$58,960.00	\$80.00	737	\$58,960.00
\$800.00	50	\$40,000.00	\$300.00	50	\$15,000.00	\$500.00	50	\$25,000.00	\$400.00	50	\$20,000.00	\$450.00	50	\$22,500.00	\$400.00	50	\$20,000.00	\$750.00	50	\$37,500.00
\$120.00	114	\$13,680.00	\$62.00	114	\$7,068.00	\$82.00	114	\$9,348.00	\$50.00	114	\$5,700.00	\$20.00	114	\$2,280.00	\$60.00	114	\$6,840.00	\$75.00	114	\$8,550.00
\$32,000.00	1	\$32,000.00	\$12,000.00	1	\$12,000.00	\$6,000.00	1	\$6,000.00	\$10,000.00	1	\$10,000.00	\$5,000.00	1	\$5,000.00	\$20,000.00	1	\$20,000.00	\$50,000.00	1	\$50,000.00
\$4.00	855	\$3,420.00	\$4.00	855	\$3,420.00	\$5.25	855	\$4,488.75	\$10.00	855	\$8,550.00	\$7.00	855	\$5,985.00	\$5.00	855	\$4,275.00	\$4.50	855	\$3,847.50
\$4.00	855	\$3,420.00	\$4.00	855	\$3,420.00	\$5.25	855	\$4,488.75	\$5.00	855	\$4,275.00	\$4.00	855	\$3,420.00	\$5.00	855	\$4,275.00	\$3.50	855	\$2,992.50
\$100.00	21	\$2,100.00	\$180.00	21	\$3,780.00	\$135.00	21	\$2,835.00	\$150.00	21	\$3,150.00	\$160.00	21	\$3,360.00	\$150.00	21	\$3,150.00	\$150.00	21	\$3,150.00
\$18,000.00	1	\$18,000.00	\$12,000.00	1	\$12,000.00	\$5,600.00	1	\$5,600.00	\$10,000.00	1	\$10,000.00	\$24,000.00	1	\$24,000.00	\$40,000.00	1	\$40,000.00	\$12,000.00	1	\$12,000.00
\$10,000.00	1	\$10,000.00	\$12,000.00	1	\$12,000.00	\$5,600.00	1	\$5,600.00	\$8,000.00	1	\$8,000.00	\$6,000.00	1	\$6,000.00	\$40,000.00	1	\$40,000.00	\$12,000.00	1	\$12,000.00
\$75,000.00	1	\$75,000.00	\$20,000.00	1	\$20,000.00	\$62,000.00	1	\$62,000.00	\$100,000.00	1	\$100,000.00	\$50,000.00	1	\$50,000.00	\$80,000.00	1	\$80,000.00	\$60,000.00	1	\$60,000.00
\$25,000.00	1	\$25,000.00	\$12,000.00	1	\$12,000.00	\$10,000.00	1	\$10,000.00	\$50,000.00	1	\$50,000.00	\$20,000.00	1	\$20,000.00	\$30,000.00	1	\$30,000.00	\$30,000.00	1	\$30,000.00
		\$911,162.05			\$655,300.00			\$772,255.50			\$1,187,896.00			\$664,975.00			\$966,938.00			\$800,400.00